 EQ \f(3x+11;5)-\f(2-3x;4)=\f(4-3x;10)-2 
 EQ \f(3x+11;5)-\f(2-3x;4)-\f(4-3x;10)+2=0 
 EQ \f(3x+11;5)+\f(3x-2;4)+\f(3x-4;10)+2=0 
 EQ 2+\f(3x+11;5)+\f(3x-2;4)+\f(3x-4;10)=0 
 EQ 2+\f(\b(3x+11)4;5·4)+\f(\b(3x-2)5;4·5)+\f(\b(3x-4)2;10·2)=0 
 EQ 2+\f(\b(3x+11)4+\b(3x-2)5+\b(3x-4)2;20)=0 
 EQ 2+\f(\b(12x+44)+\b(15x-10)+\b(6x-8);20)=0 
 EQ 2+\f(12x+44+15x-10+6x-8;20)=0 
 EQ 2+\f(33x+26;20)=0 
 EQ \f(2·20;20)+\f(33x+26;20)=0 
 EQ \f(2·20+\b(33x+26);20)=0 
 EQ \f(40+\b(33x+26);20)=0 
 EQ \f(40+33x+26;20)=0 
 EQ \f(66+33x;20)=0 
 EQ \f(33x+66;20)=0 
 EQ \f(33\b(x+2);20)=0 
 EQ x+2=0 
 EQ x=-2 
